ALL INDIA TRADE TEST - 2025 FOR CRAFT
INSTRUCTOR TRAINING SCHEME - ENTRANCE
EXAMS
Trade Name: Computer Hardware and Networking
Maintenance
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (1 Marks each)

3. There is no negative marking

Max Marks : 100

13:{ QID Question Body and Alternatives

TRADE THEORY

The Process of opposition to the current flow is

YRT vaTg B! faRy b ufpar s 21

Al : Inductance
A2 : Admittance
A3 : Capacitance

A4 : Resistance

TRADE THEORY

Which device is used to protect an electric circuit?

fagd ufay @1 gRem & g fHaSumiv &1 Sugh fHar s 31

Al : Switch

A2 : Fuse

Rk S

A3 : Energy meter

A4 : Relay
o

TRADE THEORY
3 What will be the frequency of DC current?

DC Y 31gfa BT a1 A BT |

Al : 50Hz
50Hz

A2:0Hz
0 Hz

A3 : Twice of the supply frequency

forgd YRT gy BT 3 T

Marks

1.0

Negative
Marks

0.00




A4 : Half of the supply frequency

TYfet Sfrqfal T aer

TRADE THEORY

Moving Iron type instrument is used to measure.....

T SR U T AU I fore T fpar s g1

Al : AC only
AC

A2 : DC only
DC only

A3:AC&DC
AC 3R DC

A4 Nil
T

TRADE THEORY

What is the effective resistance is two 1 kW resistors are connected parallel?

THTE UfRIY &Y T & 1 kW UfRIY ) AR & ST Sar 21

Al:2KQ
2KQ

A2:500Q
500 Q

A3:250Q
250 Q

A4 :1KQ
1 KQ

TRADE THEORY

What is the formula to find out power'in an electrical circuit?

farge ufvay & fR1ed 91d B &1 93 111 31

Al:P=IxR
P=IxR

A2:P=1*xR
P=12xR

A3TP=VxR
P=VxR

A4:P=V/R
P=V/R

TRADE THEORY

What is the formula, if two resistors, R; & R, connected in parallel?

e &Y feRIY 3R T 3IR 3R &) HY FHGAR BT 1S 81 df WieRle HebTem &1 g | 3|

Al:R=R, &R,
R=R, &R,

AZZR:RIXRz
R:RIXRZ

0.00

0.00




10

10

Advantage of surface Mount device is.....

Y HISE SUB & AT AH |

Al : Connecting leads available

PG oS Uy

A2 : Small

A3 : Costly

A4 : Through hole facility available

IUA BId GfaYT & AeAd A

TRADE THEORY

TRADE THEORY

Algebraic sum of incoming and outgoing current is zero. Identify the law.

3 3R S areft fagd YR &1 s IR T B 1

Al : Ohms law

3w o

A2 : Kirchoffs First law
=i o1 ugan em

A3 : Kirchoffs second law

e &1 fedta Fem

A4 : Nortons theorem
AT 31 Ry

The following symb:)Trep:esents which components?

Fafifedudis e gee! &1 ufaffia a2l

Al :LDR
LDR

A2: VDR
VDR

A3 :NTC
NTC

A4 :PTC
PTC

TRADE THEORY

TRADE THEORY




What is the colour code for 1.2 K £5% resistor?

1.2 K £5% UfeRIY BT HeR IS g

A1l : Brown black red gold
YRT DT Tt g

A2 : Brown black red silver
URT Tl AT RAaR

A3 : Brown red red gold
R MININRNIIN] Qjel [

A4 : Brown orange red silver

1RT AR e RaaR

TRADE THEORY

What is the function of soldering?

Gree T &1 a1 B gl

Al : To make bond between two metal pieces

T Y1gel & T s! Bl ST

A2 : To make bond between two wooden pieces
ABS! B ChS! DI SISl

A3 : To make bond between any type of materials

ot ot Tt & e Sirs s=

A4 : To remove the joints

BISEIRCISEEANIY

_ARADETHEORY

What is the unit of inductive reactance?

Tefaea Ruaey s | $aTE &2

Al : Henry
A2 : Hertz
A3 : Ohm

A4 : Farad

TRADE THEORY

What is the formula to find out inductance of a coil ?

TAGRY 31t isel T UdT T T I 1 82

Al
: uN2A
e
£
A2
: L usz
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16

15

16

A3

[A

e .
N

A L:N2 Al
H

TRADE THEORY

The induction is used to.....

TR BT IUUNT gl fpaT ST 82

Al : store electric energy

foorelt Y ¥R B

A2 : store magnetic energy
PRAT

A3 : pass AC
ACTUN

A4 : block DC
DC &ilh

TRADE THEORY

Working principle of transformer is.....

AR &1 e Rigid @ 8?

Al : Self inductance
OIH aqag

A2 : Mutual inductance

A3 : Back emf
emf

A4 : Eddy current

TS URT

TRADE THEORY

How to find out the voltage ratio of a transformer?

TTABTHR & dlecs] SIUTd T UdT hd TIE?

AleVp/Vs
Vp/Vs

A2 :Vs/Vp
Vs/Vp

A3

A4

TRADE THEORY
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21

20

21

How to occur copper loss in a transformer?

T TR & a1 & THuH & 58 FH B

Al : Due to the core of transformer
& RO

A2 : Due to the lamination of transformer

P BRI

A3 : Due to the insulations provided in the transformer

TG &1 TR & HROT

A4 : Due to the copper winding of transformer

TIAHIHR & el SIUT T UdT B TS

X

TRADE THEORY

In capacitance, capacitance value....

HIRAT H UIRR BTAFR.......|

Al : Directly proportional to area of plate
QA U

A2 : Directly proportional to distance b/w the plates

e BT bw T A Ui &=

A3 : inversely proportional to area of plate

ie & &b fauRd

A4 : inversely proportional to dielectric constant

TS THER H d18 & JHUH I by HH I |

_ARADETHEORY

What is the relation b/w frequency and capacitive reactance in a circuit?

RuY H b/w SR SR B1far ufafsear s g2

Al : Not depending

faaiR el <ecit

A2 : Frequency increases capacitive reactance increases

TGO

A3 : Frequency increases ¢apacitive reactance decreases

3Tl o6 STdhg 3R T o1 St &

A4 : It will depends on circuit

TRAT G IRR BTAAR......|

TRADE THEORY
Compare the effect of capacitors for AC and DC frequency.....

AC 3R DC 3M1qfa F o onfar & wurd &t gor e |

Al : allows AC blocks DC

AC T DC BT 3w ST ®

A2 : Allows DC block AC

DC &Y AR 3R AC BT AT

A3 : Not allowing both AC and DC

AC 3R DC & aTied et srar

A4 : Fully allowing both AC and DC

T 3R S ST b1 O TRE gl

0.00

0.00
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23

24

25

22

23

24

25

What is the condition at which resonance occurs is..........

I8 fufa #r & R R A= g g

Al : Xy >Xe
XL>XC

AZ:XL<XC
X <Xc

A3: X =Xc
Xp =Xc

A4ZXL&XC:0
XL&XC=0

TRADE THEORY

TRADE THEORY

Calculate the effective capacitances, if two 100 mf capacitors connected in parallel.

T TS % TTUMT T IS & 100 mef TR TR B IS §U R

Al :50 pF
50 pF

A2 : 100 uF
100 puF

A3 :133 pF
133 uF

A4 : 200 uF
200 pF

~ ¥TRADE THEORY

State advantage of bridge rectifier over centrg'tapped rectiffer. . ...

Yoz TS AFHIR & FW 59 AFHRR b1 FT e 2|

Al : High output voltage
3 TSHc Y | [l

A2 : Avoiding centre tap'tfansformer

YR Y TABIR Y G

A3 : High efficiency
SEGEdT

A4 : Tow ripple factor
HH R DHRD

What is the value of ripple factor in a bridge rectifier?

oot IR ® Rud haex ST A BT 8 1

A1:0.48
0.48

A2:81.2
81.2

A3 :40.6
40.6

TRADE THEORY
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27

28

29

26

27

28

29

Ad4:121
1.21

TRADE THEORY

What is the purpose of the following component given in figure?

fE # feu U e gee BT IS A B

Al : Amplifier
A2 : Rectification
A3 : Oscillation

A4 : Voltage regulation
qrecsl

What are the terminals of a transistor ?

T TIORER & a7

Al:MT;,MT,, G
MT, , MT,, G

A2:S8,D,G
S,D, G

A3:E,B,C
E,B,C

What is the function of IC 7912 ?

1C 7912 BT RS2

Al : To'give output of + 12V
+12V B 3FCYE &A1

A2 : To give output of -12 V
- 12V &1 3TTYE &l

A3 : To give output of both +12V & -12 V
+12V & -12 V G 3i3eYe &

A4 : To give output other than 12V
12V & 37T 3 $MITYE S

What is the value of alpha in amplifiers ?

YU & 3] BT A 187

TRADE THEORY [

TRADE THEORY

TRADE THEORY

0.00
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31

32

33

30

31

32

33

Al1:50
50

A2 : Above 1
1 9 et

A3 : Below 1
1959

A4:200
200

TRADE THEORY

Operation of emitter follower is same as which transistor configuration?

ISieh P 1Y T FeTer TR BI<RTH & JHA B

Al : Common collector

Vi

A2 : Common emitter

PIHA

A3 : Common bare
HIS PTHA

A4 : No transistor configuratio

PIS TIORCR HIBTRRIA gt

TRADE THEQRYA,

' stands for...
BT 3 B

Al : current gain of transistor CE configuration
CE -7 IR BT YRT AT

A2 : voltage gain of transistor CE configuration
RMSRER CE BT dlees A1y

A3 : current gain of transistor CB configuration
CITO¥CR CB DTWRYTRRA o] URT ATH,

A4 : Voltage gain of transistor CC configuration
TIfoReR CC PHTRIINRH @] alee ol ATy

TRADE THEORY

The functi(;n of half adder circuit is to......

BT el Ffhe BT B B

Al : add two bit with carry at a time

TS iy 3 foe S0 off T 99g Id

A2 : add three bit at a time

A fc s g s

A3 : add or subtract two bit at a time

T gAY H ¢ foe oY Siieq 3R ger

A4 : add two bit at a time

TS IR A fe s

TRADE THEORY
Which circuit is used to convert DC to AC ?

DC &1 AC & Seaq & forg i ufkuy &1 Iuaiv fear s g1
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35

36

34

35

36

Al : Converter

A2 : Rectifier

A3 : Inverter

A4 : Amplifier

Advantage of UPS is to supply ....

UPS 9UTS & @TH

A1l : uninterrupted AC sinewave to load

e o3 & fae fafy Ac Irz1ag

A2 : Uninterrupted DC power to load

s o4 & fore ey be TR

A3 : Uninterrupted AC squarewave to load

e oA & foe sy Ac TR g

A4 : both AC/DC delivering

AC/DC & &1 BT Syfef

Function of relay is on the principle of

3 % B RIgid W el

Al : Electro magnetism

=

A2 : Magnetism

A3 : Electrostatic

X

A4 : Mechanical

Which gate will produce O/P 1 if only all outputs are?

e Tt sreHeyge § O & A1 fie 3t ff &7 Iare S|

Al : OR gate

OR e

A2 : AND gate
AND TE

A3 : NOT gate
NOT ¢

A4 :NOR gate
NG

TRADE THEORY

TRADE TAEORY

TRADE THEORY

TRADE THEORY

0.00
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40

37

38

39

40

Name one of the server operating system.

IR MR REA I TH HTTH ......... Famg

Al : Windows 8
8

A2 : Windows 10

fde 10

A3 : XP

A4 : Linux

TRADE THEORY
Which of the following OS is not based on Linux?

9 8 A P 91 08 foFad R snetfa &1 82

Al : Cent OS
deos

A2 : Ubunter

A3 : Red hat

IS8

A4 : Professional XP
XP

_FRADE THEORY
Which command in LINUX is used to reports the full path'te the current directory ?

RT 1 et & gof vy ot ROiE @v & fom LiNwx & o u7s &1 Qo fda Sl 82

Al :PWD
PWD

A2:CD
CD

A3 :PD
PD

A4 :RD

TRADE THEORY
$Cal command is used to do in LINUX OS is....

LINUX OS H &3 & fiIT $Cal HHIS &7 UGN fohar ST 82

Al : display calculator
A2 : display calendar

A3 : display C file
CIRd

A4 : display current used file list

BIga ferke H uged

0.00
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42

43

44

41

42

43

44

The function of echo-command in LINUX will be....

LINUX H S HHS BT B gHTl

A1 : write its arguments to standard output

THS 3TSHCYE &

A2 : read its argument to standard output

RIS 3MSHeye H 0 B UgH & forg

A3 : hear its argument to standard output

RIS 3ASHeye A ad &l G & g

A4 : copying the file

B3 DI HIYT A & e

In which method Linux system everything stored ?

forag Riew v v & wa oo Wifgd srar g1

Al : Directory
SRRGE

A2 : File
HIRd

A3 : Executables

A4 : Script

The function of daisy wheel printer is .......

ot A MR BT ee Eakd

Al : Print graphics
[ECRIETS]

A2 : Print characters and.symbols

quf 3R Uit B e

A3 : Print graphigs, charagters and symbols

fife mfthaRg 3feR 3R Ui

A4 : Print is not possible
ffedva 731 3

Which output device of a computer will convert text and graphical documents in to written physical form?

PIIYET BT HIF T 3MYR AT TRe IR Al axarast ! [ 3R ifds o & gga 3|

Al : Monitor
A2 : Printer
A3 : Earphone

A4 : Speaker
Wi

TRADE THEORY

TRADE THEORY

. TRADE,THEORY

TRADE THEORY

0.00

0.00
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46

47

48

TRADE THEORY

Dot matrix printer is....

Sle Apeaq R el 2

Al : impact printer

A2 : non-impact printer
M-

A3 : laser printer

A4 1 ink jet type
3 o flicx

TRADE THEORY

In a dot matrix printer, each dot is produced by a tiny metal rod is called......

Bl Adcad ek H Ud® Sic &l T Bicl Jed s gRI FHifd fear s 21

Al : wire
R

A2 : matrix

X

A3 : spray
5

A4 : image

", TRADE THEORY

How many pins used in a dot matrix printer tomake characters?

quf 5 o forg ster Mifea IR & fovd e srguai fovan oirar 82

Al : 40
40

A2:58
58

A3:50

A4 48
48

TRADE THEORY

How the speed of the printer is expressed?

R @t 7Ify 2 e B o 22

Al : ppm
ppm

A2 :pps
pps

A3 : pph
pph
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50

51

52

49

50

51

52

A4 : rpm

TRADE THEORY

Which is used to print in large size and complex drawings in computer aided design?

PR USS Fgomme # 93 bR 3R Sifed fot oY fife e & o fepaest SuainT famar San 82

Al : Dot matrix printer

ST Afeey fireR

X

A2 : Plotter

A3 : Inkjet printer

A4 : Laser printer

AW ez

TRADE THEORY

Identify the given fig.

Al : Print head mechanism of dot matrix printer
Sle At iR a18s

A2 : Printer head mechanism of laser printer

AR fifex o1 iR e Ao

A3 : Print head mechanism of ink jet printer

3 vic fifex &1 fiiex 8 Adfom

A4 : Print head mechanism of daisy wheel printer

T S iR a1 i s

TRADE THEORY

Which printer@orking in the principle of photo electric?
Ie! Safded & Rigid § &1 91 ffer 18 araT 32

A1l : Daisy wheel

EEIESK

A2 : Ink jet
$H o

A3 : Dot matrix
8Ic

X

A4 : Laser printer

AR e

TRADE THEORY

Which part of a laser printer used to form the text and images on the paper?

AoR fifex & forg HINT 1 ST S R eRe 3R i 571 & fore fpan sman 82
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54

55

53

54

55

Al : Blade

A2 : Hopper

A3 : Toner

A4 : Roller

TRADE THEORY
Which part has problem in a printer if the print is faded with bubbles?

Tfe fifc wier 7 a1 fiier & frg R A gr=r &2

AsBbCe
AaBbCe
AsBbCe
AaBbCe
AaBbCe
AgBbCe

Al : Toner cartridge

X

A2 : Power supply
EIEE

A3 : DC controller
DC FeITR

X

A4 : Roller

T—EABE THEORY

Which device has the consolidated function of printer,eopier, scanner and fax?

IR BIRRT TR 3R e BT TR 1Y fohd ST T Bl 82

Al : Multi function printer
et Breh e iR

A2 : Plotter

A3 : Image'scanner.

TS ¥R

A4 : Laser printer

TRADE THEORY

In computer system, scanner is connected in......

FIYCR e T TR ST 81 87

Al : input

ERkS

A2 : output

A3 :inside

0.00
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56

57

58

59

A4 : input or output

ERPCRIRC IR

TRADE THEORY

Which device is used to read and give output of printed bar code?

fiifcs IR FIs F 3MHcYe I Ue 3R S & g [ Iuaur o7 IughT fasam ST 72

Al : Bar code scanner

TR PIS TR

A2 : Scanner
A3 : Image scanner

A4 : Network scanner

g R

TRADE THEORY

Working principle of barcode scanner is.....

IR BIe SR &1 1 Rigid /82

Al : electric

X

A2 : opto electric

X

A3 : magnetic

A4 : mechanical

y TRADE THEORY

What is meant by an exact copy of a documentimade by electronic scanning and transmitted as data by telecommunication link?

AT Tpi-T GRT ST TTT TS B TP Uit 3R gR TR i §R1 37 & =0 & Uiid 3 o1 o 3if B

Al : Scanning
A2 : Copying
BT

A3 : Faxing
A4 : Printing

TRADE THEORY

Network scanner is used to scan....

“eadh TR BT ITUNT Wb B P o fwam Sfra 7Y

Al : Image

A2 : barcode

A3 : 1P
1P

1.0

0.00
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62

63

A4 : data

TRADE THEORY

An optical machine readable representation of data relating to the object to which it is attached is called?

T HPwe 7=l R asorie ¥ It Bt & SU Jefta ST & wed 2

Al : copying
I

A2 : faxing

A3 : network code

A4 : barcode

TIRPIS

TRADE THEORY
What is meant by MFP ?

MFP &1 Al &1 87

Al : Multifunction Paper Feeder

Hed! TR e

A2 : Manually Feeding Paper

Ag3relt Hiex TR

A3 : Multifunction Printer

A4 : Maximum fax Printing

aferem tha fUifT

TRADE THEORY

The printer which print 50 pages or'more’per minute is called ?

50 I 3T 3R URTS H1afd fre e 337 are e Y s’ e B

A1 : laser printer

A2 : mediumyspeediprinter

A3 : high'speed printer
R

A4 : very high speed printer

3 718 s iR

TRADE THEORY

Which machine prints output from a computer a line at a time rather than character by character ?

B T e HYeR H U G0y | U w1EH fiie ol § Wi U, Ueb vl &7

Al : network printer

A2 : line printer
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65

66

67

A3 : multi function device

el Bh e fSarsy

A4 : laser printer

AoR iR

TRADE THEORY

How many layers does OSI reference model has?

OSI Hied | fba iR &

TRADE THEORY
HTTP stands for.....

HTTP &1 31 B

A1l : Highlevel Test Transfer Protocol
Highlevel Test Transfer Protocol

A2 : High Tension Text Protocol
High Tension Text Protocol

A3 : Hyper Text Transfer Protocol
Hyper Text Transfer Protocol

A4 : Hyper Tension Text Protocol
Hyper Tension Text Protocol

TRADE THEORY

How many bit contains in IPV4 address?

1Pv4 T3T A fhaft i @1 81

Al : 8 bit
8 fae

A2 16 bit
16fec

A3 32 bit
3 fye

A4 : 64 bit
64 e

TRADE THEORY

Router operates in which layer of OSI reference model?

ISR OSI Hisd i g IR & aerd g g

A1l : Layer 1 (physical layer)
AW 1

A2 : Layer 3 (network layer)
R 3

0.00
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68

69

70

71

A3 : Layer 4 (Transport layer)

TR 4 (YU AW)

A4 : Layer 7 (Application layer)
7

What is the content of each IP packet?

T 1P Yobe & DiTede T 22

Al : Only source address

Haq I

A2 : Only destination address

A3 : Both source & destination address

BIGEIN

A4 : Source or destination address
o

Which of the following can be software?

FaffiRed § § F 91 9itcdmR 8 goar 82

Al : Router

A2 : Fire walls
IORdI

A3 : Gateway
ed

A4 : Modem
HISH

URL stands for.....

URL &1 JRT &Y &1 82

A1l : Unique:Reference Locator
Unique ReferencerLocator

A2 : Uniform Reference Label
Uniform Reference Label

A3 : Uniform Resource Locator
Uniform Resource Locator

A4 : Unique Resource Locator
Unique Resource Locator

TRADE THEORY

TRADE THEORY

TRADE THEORY

TRADE THEORY

Which type of website that helps computer user find information on the inter net is called?

9 UPR &1 gauTge H HIUYLR ToR HT 3T W THSHRI TioH H Heg Bl 82

Al :HTTP
HTTP
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72

73

74

75

A2 : Search engine
Td g

A3 : Protocol

A4 :GUI
GUI

TRADE THEORY

Identify which is not a search engine in a computer internet system?
FIOYLR geTC ReH § HF 1§91 181 82

Al : yahoo
yahoo

A2 : google
google

A3 : ask.com
ask.com

A4 :HTTP
HTTP

TRADE THEORY

Physical or logical arrangement of network is called......

Tead BT Nt a1 aifers Hawl &) 1 Hed 87

Al : topology
LSS

A2 : protocol
PIEEa]

A3 : routing

A4 : networking

TRADE THEORY

Which topology of network having a central controller or hub?

Jead B B Wi § U Hi<d FaFs arga 82

AletStar

A2 : Mesh

A3 : Ring

A4 : Bus

TRADE THEORY

Which type of data communication system is used within a campus?

FUY B IR f5Y THR BT ST TR TuTTed! 67 TGN foha Srdm 82

Al : MAN
MAN
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71

78

79

A2 : WAN
WAN

A3 :LAN
LAN

A4 : Packet

What is the value of 21 +496 + 16 =?

21 + 496 + 16 T M 9180

Al:51
51

A2:52
52

A3:53

A4 :54
54

What is the value of 3232 + 4848 - 4242 =?

3232 + 4848 - 4242 BT HF SIARY

Al:3535
3535

A2 :3636
3636

A3:3737
3737

A4 : 3838
3838

What is the value of (26% 22) + (27 x 9)?

(26 x 22) @27 x 9), T U Fad

Al : 815
815

A2:816
816

A3 :817
817

A4 :818
818

What is the value of (3440 +~ 16) x (286 + 13)?

(3440 + 16) x (286 + 13) BT HH §d1Sd

Al:4720
4720

NUMERICAL ABILITY AND REASONING

NUMERICAL ABILITY AND REASONING

NUMERICAL ABILITY AND REASONING

NUMERICAL ABILITY AND REASONING

0.00
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80
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82

83

A2:4730
4730

A3 : 4740
4740

A4 :4750
4750

NUMERICAL ABILITY AND REASONING

Doctor is related to patient in same way teacher is related to..... 1.0

Siaer TafAd 3 78 @ S e e TR §
Al : Education

A2 : Hospital i
AT

A3 : Student
faremaff

A4 : School

NUMERICAL ABILITY AND REASONIﬁG

Tailor is related to pant in same way cobbler is related to..... L0

SoR IR § U 9 Sl e Hie S §

Al : Cloth

A2 : Leather
gHST

A3 : Shoes

A4 : Shop

- A NUMERICAL ABILITY AND REASONING
What is the value 6£(6650 + 50) x (169 ~ 13) =2 1.0

(6650 + 50) x (169~ 13) = T HI T 82

AT:1723
1723

A2:1725
1725

A3:1727
1727

A4:1729
1729

NUMERICAL ABILITY AND REASONING
What is the least number to be added to 5328 to make it a perfect square? L0

5328 B HH I HH T sl oY {3 a8 guf avf o= SIme

0.00
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NUMERICAL ABILITY AND REASONING
What is the average weight of all the 6 boys, If the body weight of 6 boys recorded as 21Kg, 27Kg, 33Kg, 40Kg, 47Kg and 54Kg? 1.0

3R 6 TSP BT IS HHT; 21Kg, 27Kg, 33Kg, 40Kg, 47Kg, 54Kg 3R 68Kg & T 3THT 3d Io o1 8

Al :36 Kg
36 Kg r

A2:37Kg
37Kg

A3:38Kg
38Kg

A4:39Kg
39Kg

NUMERICAL ABILITY AND, REASONING
Mr.Ganesh purchased Fridge for Rs 32,000 and sold it to Rs 40,000 whatd§ the profifpercentage? 1.0

off TTOIRT A Fridge ¥ 32,000 H \RIGT R ¥ 40,000 A IT off AT YFIRIA Sgd

Al:10%
10%

A2 :15%
15%

A3 :20%
20%

A4 :25%
25%

NUMERICAL ABILITY AND REASONING

What wouldibe the'simple interest obtained an amount of Rs 6000 at the rate of 12% annum at the end of 2 years? 1.0

3 6000 BT 12% dTNH & F 2 T BT YR SIS §d15

Al :Rs2160
Rs 2160

A2 :Rs 2170
Rs 2170

A3 :Rs 2180
Rs 2180

A4 :Rs 2190
Rs 2190

NUMERICAL ABILITY AND REASONING
An almirah is sold at Rs 6204 after allowing a discount of 6%. Find its marked price? 1.0

T AR B 6% fETBISE F TG 6204 T A 5201 771 5961 R e (MRP) S5

0.00




88

89

90

91

88

89

90

91

Al :Rs 6500
Rs 6500

A2 : Rs 6600
Rs 6600

A3 :Rs 6700
Rs 6700

A4 : Rs 6800
Rs 6800

NUMERICAL ABILITY AND REASONING

Ram deposited Rs. 9000 with a finance company for 2 years at an compound interest of 10% per annum. What is the amount that 1.0
ram gets after 2 years?

AT, 9000 TH WIEAR BT & T 2 T & 10% TP &R T TTHT BRI 2 T U] Fehaci! ST Farsd

Al : Rs 10,830 |
Rs 10,830

A2 :Rs 10,850
Rs 10,850

A3 :Rs 10,870
Rs 10,870

A4 : Rs 10,890
Rs 10,890

NUMERICAL ABILITY AND REASONING

30 men can complete of a piece of work in 20 days. How many more menumust bewwequired to complete the work in 15 days? 1.0

30 3t T B 20 37 & HR T 31 SR HTH B 15 faT AT Bt & o febe St 3R = u

NUMERICAL ABILITY AND REASONING

What distancesdoes he travel everyday, If a person runs 9 km in 30 days? 1.0

SR T IR T & 9 Km TIeral € o wfafe fra-t gt qu d=ar @

Al :300m
300 m

A2:310m
310 m

A3:320m
320 m

A4 :330m
330 m

NUMERICAL ABILITY AND REASONING
What is the value of 1971 +91 x 15 ? 1.0

1971 +91 x 15 T HH AT 82

0.00




92

93

94

92

93

94

Al:3335
3335

A2:3336
3336

A3:3337
3337

A4 :3338
3338

NUMERICAL ABILITY AND REASONING

What is the area of square, If the perimeter of square is 536 cms?

3R fordt 7l &1 Ui 536 T, B A 3BT AAB T BN

Al : 17936 cm?
17936 cm?

A2 : 17946 cm?
17946 cm?

A3 : 17956 cm?
17956 cm?

A4 : 17966 cm?
17966 cm?

NUMERICAL ABILITY AND REASONING

24 men can complete a piece of work in 12 days in how many days will36 men complete the same work?

24 ST T BT B 12 3 B R IR T3 2, T TS 36 S b A A A

Al : 8 days
g

A2 : 9 days
9fe

A3 : 10 days
10 fa=

A4 : 11 days

11 &=

NUMERICAL ABILITY AND REASONING

What is the speed of a train, If it covers a distance of 180 Km between two stations in 2/ hours?

3R P12 180 . 1. B g8 214 9 T &) RYHI 797 Bl § T SHB! T ATy

Al : 70 Km/hr
70 Km/hr

A2 : 72 Km/hr
72 Km/hr

A3 : 74 Km/hr
74 Km/hr

A4 : 76 Km/hr
76 Km/hr

NUMERICAL ABILITY AND REASONING

0.00

0.00




95

96

97

98

95

96

97

98

What is the value of 91 + 416/8?

91 +416/8 BTHAM FT S ?

Al1:123
123

A2:133
133

A3:143
143

A4:153
153

NUMERICAL ABILITY AND REASONING

Flower is related to Rose in the same way as vegetable is related to...

BT TR § e I Teoh WA §

Al : Apple
I

A2 : Carrot

A3 : Root
g

A4 : Stem

NUMERICALABILITY AND REASONING
What is the cost of 8 Kg of Apples, If the cost of 4 Kg of apples‘are Rs 500?

4TH T AT HT I %, 500 A 8 75,71, TS H1 G s

Al :Rs 700
Rs 700

A2 :Rs 800
Rs 800

A3 :Rs 900
Rs 900

A4 : Rs. 1000
Rs. 1000

NUMERICAL ABILITY AND REASONING

What is the total number of books in the book shop. If 35% books are in Tamil, 45% books are in English and the remaining 100
books are in other languages?

Tt gaT T 35% fopaTel aftrel A B, 45% el SRS B & SR W 100 frare gEsd wrwish 7 & & oot ool 1 ve

Al:300
300

A2 :400
400

A3:500
500

A4 : 600
600

1.0




NUMERICAL ABILITY AND REASONING

99

25% of a number is 500. What is 50% of that number?

3R B T BT 25% = 500 B Y ST T BT 50% T N2

Al : 850
850

A2:900
900

A3:950
950

A4 :1000
1000

NUMERICAL ABILITY AND REASONING

100

100

‘What should come next in the alphabetical series ACFHKM PR U W?

3FTST &R WAT A CFHK M PR U W 3FTAT 3&R &7 g1

o
N




Computer Hardware and Networking

-No. Correct Answer Key
1 A4
2 A2
3 A2
4 A3
5 A2
6 A2
7 A3
8 A2
9 A2
10 A2
11 A3
12 A1
13 A3
14 A1
15 A1
16 A2
17 A1
18 A4
19 A1

20 A3

21 A1

22 A3

23 A4

24 A2

25 A1

26 A4

27 A3

28 A2

29 A3

30 A1

31 A1

32 A4

33 A3

34 A1

35 A1

36 A2

37 A4

38 A4

39 A1

40 A2

41 A1

42 A2

43 A2

44 A2

45 A1

46 A1

47 A4

48 A1

49 A2

50 A1

S.No. Correct Answer Key
51 A4
52 A3
53 A1
54 A1
55 A1
56 A1
57 A2
58 A2
59 A3
60 A4
61 A3
62 A3
63 A2
64 A4
65 A3
66 A3
67 A2
68 A3
69 A2
70 A3
71 A2
72 A4
73 A1
74 A1
75 A3
76 A2
77 A4
78 A1
79 A2
80 A3
81 A3
82 A4
83 A4
84 A2
85 A4
86 A1
87 A2
88 A4
89 A4
90 A1
91 A2
92 A3
93 A1
94 A2
95 A3
96 A2
97 A4
98 A3
99 A4
100 A4






